normalized X?

[ normalized x? probability |

RN
MI.MJ e

Prob(x2)

Entries 0.14
1] Mean 1512
10 Std Dev : :
I—— 0.12f--3---
Entries 60683
102 % -- Mean 1.475
. 1978 0.4
L Entries 60187
= Mean 1.459
10°F""* Std Dev 1.954 0.08
4 r 0.06!
107°F
E 0.04]
10°F
E 0.02
oIS o
T N T i
o 14 It
0.9F 1 ,‘, I”
0.8fF Il
T : : lU il
0.7 0.95 \I Il
0 2 4 6 8 10 12 14 16 18 20 0 0. 0203040506070809 1
X2
m=m== DQM_original_step2_tthar-phasel-newgeom
mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
wmm—= DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom
A 5
—
°
c
~
=<
\

Ratio

< X2/ ndf >

Ratio

107

3
1 102 plTO

< X2/ ndf >
P
00

i
T T[T [T [T T I [T TIT T

Ratio

1072

1 -1
AR(track, jetg)



	Contents
	Page 1


